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QUESTION 1

Which two improvements to the management of a VM are gained when VMware Tools are used? (Choose two.)
A. Performs a clone of the VM

B. Adds VM alarms to the inventory

C. Makes a graceful shutdown of the VM possible

D. Allows a snapshot before the guest OS is upgraded

E. Synchronizes time between the guest and the host

Correct Answer: CE

QUESTION 2

Which feature provides a mechanism for a virtual machine to revert to a previous configuration state?
A. vSphere HA

B. Storage I/0O Control

C. Snapshots

D. Bus Sharing

Correct Answer: C

QUESTION 3

Which DRS score indicates that the virtual machine (VM) is experiencing severe resource contention?
A. 50%

B. 95%

C. 70%

D. 15%

Correct Answer: D

QUESTION 4
What does it mean if a virtual machine (VM) has a high RDS score?

A. It requires access to more resource as soon as possible.
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B. It has poor performance in the current host.
C. Itis in conflict over access to a shared resource.
D. Its resource requirements are met most of the time.

Correct Answer: A

QUESTION 5

An administrator needs to update an OS running on a virtual machine and wants to be able to revert to the previous
state if any issues occure after the update.

Which steps should be used in the vSphere Client to meet this requirement?
A. Right click on the VM > Migrate

B. Right click on the VM >Snapshots > take Snapshot

C. Right click on the VM > Clone to Template

D. Right click on the VM > Clone to virtual Machine

Correct Answer: B
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